ot

5

A-BIYEL T



— <t

1
H

— N

1
8

1
+-x-==0—x

4
@ 0.1x2-02x-03=0—x

@® »?

1
——x-1=0—x

5

® 0.1x2

— | N
Il
=
L_% @
H -
o H|E
[
= Il
q =
= 1
Il <
— o
| —
= =
™ I
o =
I 2
~ S
= |
NN
o ~
@ ©



1287 4] k% - 8x + 4 =0 ©] 2] 55 Fotolet,

S EE 2l



O|APFG 4] x2+8x—a = 0 ] T 7H o, o]AFFAA] x2+-ax—4a =
0 o] &= otH?



5.



6. ﬂﬂ%@&3ﬁ+w—1:mﬁ$%%mﬂﬂ§ﬂm%%éﬂ§%

Fstolar.

SER
c



@ 4 ® 5 @ 6 ® 7

D 3



® 12 A 15 @ 18 B 21

D 9



9. (x+y)(x+y-3)-28=02 0, x+y 9 FE BT Fotoiet,

El:’r:x—}-y:

a’:x—}—y:



2x2+6x+10=0

@ 3

o o



11. oA A 6x2 +ax+b =0 F ol 1, 24 W, a—b & 27

D =18 ® -6 B 6 @ 18 B) 24



Ax2+x-m+3=029 F 2o 27t 3 A wlf, m 9] g7

® 3 3 1 @ -1 »B -5



13. oA AA 32 +bx+c=09 F 2= -1 72 & off, pa® +
ex+1=09 F 29 g2?

1 1
@ -9 @ -2 ©_§ @—g ® 2



14. tre

j

2 PESHE S50 4B

rr
w

29

o] | 2o} 1 Z0] ATo] e 300]cH

@D 61 @ 63 3 65 @ 67 S



15.

i tll-l‘

Mo o

v

o

2

lo

il rlr

(201 —
24L&

BHH 2%
20m & £8o 2
Aohg

zoled 2] @ 2 Tolz|

=

—{o[.

ﬂ)m ot} B&
A l““"‘]7} ;qg Eﬂg 1% F9
= 15m 7}- 1:41_



Jn
=T

mjn

@ 5cm ® 6cm @ 7em ® 8cm

@D 4cm



17.

ohe 1Y 2
o} i Ao
#59lrly 2

@ 3m
@® 6m




18. g oA AA ax? 4 2bx 4 ¢ =0 (a #0)S == FHolth @
~ @ EolF Alo] vf2 2] Z3t A2? (o> —ac>0)

ax®> +2bx+c=0(a #0)

5, 2b c
Xt —x=—--
a a

2b
2+ Zx+D=-40
a a

(x+@)° =0
x=®+0®
2 2 _
D b2 o b 3 b 2ac
a a a
b b2 —ac



,_.._NO

pi-

PEAA X2 +ax+6 =09 F o] &

12

o

19.



+ (k+1x+1=00°] FF= 7 W] k 9 grol
+ax+b—04 2D, a+b O] F2?

® 3 3 2 @ 1 ® -1



21. o® Aol 25 "t Algsior & A2 ERste] 2& Hsto 2
i SR HY 48WHE Zrotxith. of W & 5fof et

e
=¥



D 2x2-2x+4=0
@ 2x2-2x-4=0

B 221 9x+ 4 =0

2x2 +2x-4=0

2x2-x-2=0



23.

o melo] &

90 7F2] & ),

e =
c



24.

Q7] gt e 2O HoA FHE Foff ZRMdEH

A o] S T AR SolAE o157

FHT 77 Aty o, EebEAS e 3
e,

SR
c

of

_7“H

Ape)



=
ol&

&
4

A
Uik 21IA12-e ABCD 9] Y ol7F 300cm? € o], 58] 2]

cm



